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A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,690,000
201 er23y| 6,700,000 3,552,000 3,148,000
=S 2,010,000
= 4,690,000
01 AtR2tc|Hl 6,700,000 3,552,000 3,148,000
Our2 8] Xt 6,700,000
< 2,010,000
= 4,690,000
a2 ZAIE - MskEdl X 947,428 934,933 12,495
308 XXM SOl 762,650 750,155 12,495
01 XN BSELES 762,650 750,155 12,495
OUEFSTAE 28N 750,155
OaxZ=zAetE S 82= 12,495
403 AXIEHHSAH=201H 184,778 184,778
01 XM A=E £ 184,778 184,778
O4t=E8lskxt & X=Xt 83,700
O&t=Z Atk 28,050
OMEATIANE SRR+ 19,928
OttEA3AIE £X 53,100
ASULEHATRE & 2H(5) 434,472 52,007 382,465
= 173,788
= 260,684
101 e124d| 39,472 32,007 7,465
= 16,788
S 23,684
M ORIMZZ2NSE S 39,472 32,007 7,465
Ottsltaad 24 39,472
= 15,788
== 23,684
201 er2 3| 20,000 20,000 0
= 8,000
= 12,000
02 s3=gHl 20,000 20,000 0
Odt=THtatatal s X2t 20,000
= 8,000
= 12,000
401 Al HIZL 201 375,000 0 375,000
= 150,000
< 225,000
01 Al&H| 375,000 0 375,000
Odat= e aa AIL- F15 375,000
= 150,000




A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 225,000
AS0LEHA 7= & 2 (AZ23Y) 222,546 205,146 17,400
= 153,480
= 69,066
308 XXM SOIA 222,546 205,146 17,400
= 163,480
=S 69,066
01 XN BSELES 222,546 205,146 17,400
OUERAZ AN RAE> S 205,146
= 141,480
< 63,666
OL2TsAIHEEH 17,400
= 12,000
= 5,400
AENSEHAH 2= X 2SANZXE) 614,221 361,922 252,29
= 389,808
=S 224,413
403 AXIEHMSXH=01& 614,221 361,922 252,29
= 389,808
< 224,413
01 AXISHHA 22 % 614,221 361,922 252,29
Od2ASIAE S 347,721
= 239,808
& 107,913
OLETHAEA AAE AZ(AIZ) 217,500
= 150,000
= 67,500
Odlel=d A= g2te 2a2s 4R 49,000
AT 7= & 2 (AZ3Y) 224,298 279,340 N\55,042
= 154,692
& 69,606
308 AtAIEMSOIE 224,298 279,340 N\55,042
= 154,692
= 69,606
01 XN EES 224,298 279,340 A55,042
OttEdslgAlll S 224,298
= 154,692
= 69,606
SMETSHA 7= & 2 (AMZX2) 328,985 180,554 148,431
= 226,886
[ 102,099
403 AXIEHMSAH=0IE 328,985 180,554 148,431
= 226,886




A= PN Wy
B ol A Usl
el AEES 2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
< 102,099
01 MXIHHA 22 328,985 180,554 148,431
O&ZE 8t S 273,943
= 188,926
= 85,017
Ottt 22 NAIAE 55,042
= 37,960
=S 17,082
AN =R22E 29 15,693 19,100 A3,407
= 15,693
308 XtXIEMSO0IE 15,693 19,100 A3,407
= 16,693
01 HASHHBSEXS 15,693 19,100 A3,407
OtHEAMBIAZ0F 21 3| 15,693
= 15,693
M2LT nEEH L RBA(E) 142,400 142,400 0
= 56,960
= 27,564
= 57,876
201 Ler23| 4,600 0 4,600
= 1,840
& 2,760
01 AtR2t2|HI 4,600 0 4,600
OL=EEXAEL 2E 4,600
= 1,840
= 2,760
307 212+01& 137,800 137,800 0
= 55,120
S 24,804
= 57,876
05 git?(& = 137,800 137,800 0
OLESA W= 137,800
= 55,120
= 24,804
= 57,876
LTAIE(E) 24,570 22,857 1,713
[ 17,200
= 7,370
201 =3 24,570 22,857 1,713
= 17,200
= 7,370
01 At22t2lt] 24,570 22,857 1,713
OYUTAIE BRI 22 24,570




A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 17,200
=S 7,370
ST AL (AEYE) 7,867,000 6,445,354 1,421,646
= 6,883,000
< 984,000
403 MR HSAHE01H 7,867,000 6,445,354 1,421,646
[ 6,883,000
= 984,000
01 AXISHA=2E2 X 7,867,000 6,445,354 1,421,646
OYAE (Y E) 7,867,000
[ 6,883,000
= 984,000
LZAE(LEES S)(HEAY) 3,209,615 3,209,615
403 MR SHHMSAH=01H 3,209,615 3,209,615
01 AXISHHA =2 £ 3,209,615 3,209,615
P2 (HYUT) S 3,209,615
MNEAL (A" S dREE) 20,160,379 13,241,209 6,919,170
= 15,444,002
= 4,716,377
403 XIS A=201E 20,160,379 13,241,209 6,919,170
= 15,444,002
= 4,716,377
01 AXIEHM A= 2 £ 20,160,379 13,241,209 6,919,170
OAtZE S AZAIE =4 20,160,379
= 15,444,002
=S 4,716,377
AHEEAL (AHE MEHS ) 14,196 0 14,19%6
= 10,920
< 3,276
403 MR EHSAHE01H 14,196 0 14,196
= 10,920
= 3,276
01 HXIHHA 22X 14,196 0 14,196
Ot MEf =R 14,196
= 10,920
= 3,276
Bt S "I (A E) 275,944 226,789 49,155
= 193, 161
< 82,783
401 AlEHIZ S 0HYI 275,944 226,789 49,155
= 193, 161
< 82,783
01 A28l 275,944 226,789 49,155
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A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAtEAIY BIEEEIHAIEE S) 275,944
= 193, 161
== 82,783
Bt EOH(GHtE AR XA . SHe tHE) 3,922 3,922 0
= 2,745
= 1,177
401 AIEHIZ SR THYI 3,922 3,922 0
= 2,745
= 1,177
01 Al&HI 3,922 3,922 0
Ol A EtE & E It 3,922
= 2,745
=S 1,177
AZAIE E& 135,234 107,289 27,945
= 104,026
& 31,208
308 AtXIEMSOIE 135,234 107,289 27,945
= 104,026
= 31,208
01 XN B EERS 135,234 107,289 27,945
OAIZAIE & 135,234
= 104,026
= 31,208
AZAIE RX2tel 497,042 362,362 134,680
= 382,340
[ 114,702
308 AXIHSOIA 497,042 362,362 134,680
= 382,340
= 114,702
01 HASHHBSEXS 497,042 362,362 134,680
OAgHEL, ME-UEXX] S 497,042
= 382,340
= 114,702
A THOH L Kt (AFAIER S O E) 401,074 392,825 8,249
= 195,646
== 205,428
308 AXIMSOIA 401,074 392,825 8,249
= 195,646
[ 205,428
01 HAHHBAEES 401,074 392,825 8,249
OLHETHAH L K2l (AAER S Z 0l L ) 401,074
= 195,646
= 205,428
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A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AtX2e| X 20,000 12,750 7,250
201 er23 | 20,000 12,750 7,250
01 At2teltl 20,000 12,750 7,250
OdttXl2te] 23 20,000
ALSHEES O FA 1,484,290 1,141,762 342,528
308 AHAIEMSOIE 1,484,290 1,141,762 342,528
01 MAHHBSEEXS 1,484,290 1,141,762 342,528
OLLIRMHESE HELIRIAL LK 887,590
OAUSTHASE M EIIF=AE I 596,700
AHENS(HES) 1,499,620 1,416,555 83,065
= 1,344,328
== 185,292
308 AHXIEMSOIH 1,325,820 1,416,555 290,735
= 1,190,328
[ 135,492
01 HAHHBAEES 1,325,820 1,416,555 290,735
OaLISMEEE gl 1,325,820
= 1,190,328
= 135,492
403 AXIEHHSAH=201H 173,800 0 173,800
= 154,000
= 19,800
01 AXISHHA=2 2L 173,800 0 173,800
OAURMLASY LM (Xt+2) 173,800
= 154,000
== 19,800
MEHMS(0ISEHE =) 121,940 365,836 N233,8%6
= 93,800
= 28,140
308 AtXIEMSOIE 121,940 365,836 A233,8%
= 93,800
= 28,140
01 RSN B EES 121,940 355,836 A233,8%
OAULRFROISEHSE = 121,940
= 93,800
=S 28,140
MHHMNS(LBHMS) 1,196,812 1,118,688 78,124
= 985,202
< 211,610
308 AHAIEMSOIE 1,196,812 1,118,688 78,124
= 985,202
= 211,610




A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 1,196,812 1,118,688 78,124
Ogetdols Xl 1,196,812
= 985,202
< 211,610
ATHOH L Ktel (Ol =M B &t 632,073 618,648 13,425
= 486,213
= 145,860
308 XM SOIE 632,073 618,648 13,425
= 486,213
= 145,860
01 AXH B2 LS 632,073 618,648 13,425
OdtE e Rl (M =2 LM ) B 4 632,073
= 486,213
s 145,860
A THOH L Atel (Ol 2R AIE) Xt= 18,373 18,372 1
= 14,133
S 4,240
403 AXIEHMSA=Z01d 18,373 18,372 1
= 14,133
= 4,240
01 XISHH A 22 E 18,373 18,372 1
OUZHIe LHEHI 18,373
= 14,133
= 4,240
AH THoH 2 15,000 3,060 11,940
201 Ler23| 15,000 3,060 11,940
01 At2teltl 15,000 3,060 11,940
Oatd ol Xl O oatdd 29 15,000
AHALEH el AR AENZEAL 227,500 227,500 0
= 175,000
= 52,500
308 AFAIEHMSOIE 227,500 227,500 0
= 175,000
= 52,500
01 AXH B2 LS 227,500 227,500 0
OLIAEHR A K] A EH AL 227,500
= 175,000
s 52,500
Sty SZ ol M2AE 240,100 240,100 0
= 196,000
== 44,100
403 AXIEHMSAH=Z01d 240,100 240,100 0
= 196,000




A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 44,100
01 A= 2L 240,100 240,100 0
OA et ol M& 240,100
= 196,000
= 44,100
SLRoHS A 120,000 0 120,000
308 XXM SOIA 120,000 120,000
01 AXNBEES 120,000 120,000
Og E8 2l At 120,000
=R F2e 102,102 0 102,102
= 78,540
== 23,562
403 MR EHSAHE01H 102,102 0 102,102
= 78,540
= 23,562
01 HXIHHA 22X 102,102 0 102,102
Ot =3 sX2el 102,102
= 78,540
= 23,562
MHZRX Al 2LIEHE 76,000 0 76,000
= 53,200
== 22,800
401 AlEHIZ S 0HbI 76,000 0 76,000
= 53,200
< 22,800
01 AlZ2H| 76,000 0 76,000
Ot =3 AIZE ZLIEE 76,000
= 53,200
= 22,800
SR |4 58,521,407 67,319,792 8,798,385
= 39,867,016
Il 1,737,036
= 16,917,355
TEAE A 15,612 3,612 12,000
201 =3 15,612 3,612 12,000
01 At22t2l] 3,612 3,612 0
Oal=g & SIHIIHA S| 3,612
03 A= &I 12,000 0 12,000
Oalsd & =)D A2 g| 12,000
rE(sMM ) 6,439,749 5,571,842 867,907
= 6,439,749
402 BIZtAH=01 A 6,439,749 0 6,439,749
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2A:

NE: olel 2B st
el AEAE | (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

2 6,439,749

03 RIZSIErARIH 6,439,749 0 6,439,749
OZE 2 RSYA 6,439,749
2 6,439,749

TR(INY =4) 3,755,456 4,811,382 1,085,926
2 2,797,360
= 958,096

403 XX SHHI S K20 & 3,755,456 4,811,382 1,055,926
2 2,797,360
= 958,096

01 REXISHHI K2 2 & 3,755,456 4,811,382 1,085,926
OZMEZY 3,755,456
2 2,797,360
== 958,096

rH(2UR =¥) 1,000,828 1,339,652 A338,824
2 455,045
= 545,783

403 TIXISHHIS K20/ 1,000,828 1,339,652 338,824
2 455,045
= 545,783

01 RIXISHHIRH2E X 1,000,828 1,339,652 338,824
ozuexy 1,000,828
2 455,045
== 545,783

Z(XIS3) 2,638,555 2,773,865 135,310
2 2,029,658
== 608,897

403 XIXISHHIS K201 ™ 2,638,555 2,773,865 135,310
2 2,029,658
= 608,897

01 RIXIEHRIRH2E X 2,638,555 2,773,865 135,310
OXNSSs =g 2,638,555
2 2,029,658
= 608,897

ZY(A2IHEPZY) 4,067,950 0 4,067,950
2 2,204,200
== 1,863,750

403 XIXISHHIS K201 4,067,950 0 4,067,950
2 2,204,200
< 1,863,750

01 XIS 2L x 4,067,950 0 4,067,950
OMETHESREY 4,067,950
2 2,204,200




2A:

Hm: olg 2T 2
ol M =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 1,863,750
TE(HEAEEY) 2,984,444 2,984,444 0
= 2,644,444
= 340,000
403 THXI M SAH=01H 2,984,444 2,984,444 0
= 2,644,444
=S 340,000
01 XIS A =2 & 2,984,444 2,984,444 0
OdziteESH 2,984,444
= 2,644,444
< 340,000
REdMIIREE X3 134,476 286,608 152,132
= 103,662
= 30,814
403 AXIEHHSAH=201H 134,476 286,608 A152,132
= 103,662
= 30,814
01 AR A =2 £ 134,476 286,608 152,132
ORsMLD|Btxd 134,476
= 103,662
s 30,814
A=) 17,233,265 24,491,826 NT7,258,561
= 13,253,127
& 3,980,138
201 fer= 3| 12,000 12,000 0
= 6,000
= 6,000
01 At2t2l] 12,000 12,000 0
=)H0| Jlski2d 28 S 12,000
= 6,000
= 6,000
403 MR SHHMSAH=01H 17,221,265 24,479,826 AT ,258,561
= 13,247,127
[ 3,974,138
01 A= 2L 17,221,265 24,479,826 AT ,258,561
O=IHIIANE 17,221,265
= 13,247,127
= 3,974,138
SSAE IO 1,575,681 2,326,204 AT750,523
= 1,212,062
= 363,619
308 XHXIEMSO0IH 1,575,681 2,326,204 AT750,523
= 1,212,062




of
i’
oF
uJ

[ap]
A 3 X X N 8|8 % 5
m_ <
D
R 2 2 2 21818 (8|88 |8 81818 |E °
% ()] D Ouy ) y ) nJv ) ) y hOv hOv 67 nvr
war | |9 5 5 5 2188 |RIRIE |8 YT e
iEd =
RIS
AR R EE A R R R T
I R N T . - > N d d d d > > > > N R > O O[O O©O|— NN O —
PRYGIEGNEHFNIBEG O giglg g R EE LRI
<
=3
I MW o~ W o~ W ~ W
= LR I T
o 2
g - -
¥ 5 0 ®
- _ L o 2 o =
= i o | @ = O o
* o mm & 6 R -
= 3 i I K 2O —_
. = o dl A= il B 3o e
~ ) _ a0 R =i WO o3 Ao =
ﬂ E W W M K1 Lo g E of | | ! KH | oF rlo Ry wﬁ |9
— N o —IA B o
= na o e M A = S U= S U TR (o Sl B S - e R/
o R O Ao U0 = K of [o |20 Wiky (=W 2% o0 Koy Zyogg 0 (R |0 =
= o = R = S |Ub|R0 < imd U0 = Gpfopfuo|Ro o= 3 m Wikls|s e p ujo
= 5 < o = =5 A M A B A A I A A - e =
il o) 1 m o al Dlolm 2| W Em|lh wiglo|lo T xR SIE BRI 5
= o s ol gl o IR R iR e Ui s o0 |OJ|T) ® B0 RO Ol S0 fop|F W= ol
! = R = R = PRl Cl2 =g m|Brlg ¢+ @2 o|f|m|r 2|32 =
! < - = = Rl | &|[x *m|x|x 2 M CA A L ET ] =
x 5 o) 3 ~ O w|Z15 Bpl=lE OPIEIE 00068 o|13|Y 2 ol -
= = o SEEES Wl S| | S o =55 Ol &
I+ = = i = 70 | 2l &
E R0 o0

_13_



SN AT

Hm: olg 2T 2
el AEAE | (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 695,170 0 695,170
Ogdts &332 NH 695,170
= 397,240
< 297,930
ArFAr ALY SHOIHIE 4,788 6,384 A 1,596
= 2,736
= 2,052
308 XM SOIE 4,788 0 4,788
= 2,736
= 2,052
01 AXH B2 LS 4,788 0 4,788
Odtrat Mot 2ol 4,788
= 2,736
s 2,052
ElEtE Y AtE T 2tel 1,010,018 1,267,593 N257,575
= 831,780
== 178,238
308 AtXIEHMSOIE 1,010,018 0 1,010,018
= 831,780
= 178,238
01 AXEHBSEES 1,010,018 0 1,010,018
Ozlgd o= THEH2e 1,010,018
= 831,780
= 178,238
LA SHAEXF 25} 3,974,118 4,357,890 A383,772
= 2,441,210
[ 1,532,908
403 MR HHMSAHE01H 3,974,118 4,357,890 N383,772
= 2,441,210
= 1,532,908
01 MHXIHHA 222 3,974,118 4,357,890 A383,772
OB US| 23} 3,974,118
= 2,441,210
= 1,532,908
At S AR Y 4,687,900 4,800,250 A112,350
= 2,678,800
== 2,009,100
403 MR HHMSAH=01H 4,687,900 4,800,250 A112,350
= 2,678,800
< 2,009,100
01 MXIHHA 22 4,687,900 4,800,250 A112,350
(OF=F P}l E S~ PN 4,687,900
= 2,678,800
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2A:

NE: 9ol IH 23
ol M =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 X SHHMSAH=01H 10,140 13,000 22,860
= 7,800
== 2,340
01 AXISHHA 22 % 10,140 13,000 2,860
OorsE2ed XA (AM=XE) 10,140
= 7,800
& 2,340
SHASAIE Szt 92,000 92,000 0
= 80,000
= 12,000
403 TR SHMSAH=01H 92,000 92,000 0
= 80,000
=S 12,000
01 AXISHHA =2 £ 92,000 92,000 0
OSTHAHAIE TSt 92,000
= 80,000
[ 12,000
SNNE SEHS 14,674 14,674 0
= 10,879
= 3,795
202 04| 1,518 1,518 0
= 759
= 759
01 SLHoIH 1,518 1,518 0
O SS22] 0] 1,518
= 759
== 759
308 AtXIEMSOIE 13,156 13,156 0
= 10,120
= 3,036
01 HASHHBSEXS 13,156 13,156 0
O=HdLg S52acl 13,156
= 10,120
= 3,036
ZE(UHat=8Uxd) 721,500 389,610 331,890
= 555,000
== 166,500
403 MR HHMSAH=01H 721,500 389,610 331,890
= 555,000
< 166,500
01 MXIHHA 22 721,500 389,610 331,890
Oust=8ll =4 721,500
= 565,000




S A= DAL=

Hm: olg 2T 2
ol M =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 166,500
ZE XD 535,823 535,823 0
403 AXIEHHSAH=201H 535,823 535,823
01 XIS A =2 £ 535,823 535,823
OX8Xl At=2tel 535,823
S a2 277,680 277,680 0
= 213,600
== 64,080
308 AHXIEMSOIH 277,680 277,680 0
= 213,600
[ 64,080
01 HRHHBSEELS 277,680 277,680 0
OZTHasrze| (S8 HZ2el S) 277,680
= 213,600
= 64,080
EltE ST YL 210,600 210,600 0
= 162,000
= 48,600
403 AXIEHHISAH=0lH 210,600 210,600 0
= 162,000
== 48,600
01 AXISHHA 22 £ 210,600 210,600 0
Oz 2B ST L 210,600
= 162,000
< 48,600
ENEASE R R RN 56,570,299 43,063,130 13,507,169
= 771,817
= 3,985,000
7l 12,488,000
= 39,325,482
Ng==2 T4 & SH(HEA) 1,425,000 1,425,000 0
403 X SHHMSAH=01H 1,425,000 1,425,000
01 AXISHHA =2 £ 1,425,000 1,425,000
O==28 =4(E2) 1,425,000
ANg==2 2 d=0ey 39,312 39,312 0
308 AXIHSO0IA 39,312 39,312
01 HAHHBSEEXS 39,312 39,312
OANE+==2 2435 39,312
SNz S ZE(HEAY) 4,740,060 4,740,060 0
403 AXIEHHS X201 4,740,060 4,740,060
01 AXEHM A =2 £ 4,740,060 4,740,060
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A AEXRD
KEH: OlOf 2
[ I =

aY Y= Hat
e N A R S (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIXAM &A=, Jti2=, 880ts= S &
A 3,816,060
Ostlz =4 924,000
JI=UHE EAlE =4 12,480,000 11,400,000 1,080,000
Jl 10,400,000
= 2,080,000
403 AXIEHHSAH=201H 12,480,000 11,400,000 1,080,000
Jl 10,400,000
=S 2,080,000
01 AR A= 2 £ 12,480,000 11,400,000 1,080,000
OJI2UHE8 ZAl= &4 12,480,000
Jl 10,400,000
< 2,080,000
CABEEERS 3,402,000 3,600,000 198,000
[ 2,835,000
= 567,000
403 AXIEHHSAH=201H 3,402,000 3,600,000 198,000
[ 2,835,000
= 567,000
01 AXISHHA2EE 3,402,000 3,600,000 A198,000
OFAltteds= &4 3,402,000
s 2,835,000
s 567,000
25+ g4l X3 317,300 447,300 130,000
308 AXIHSOIA 50,000 130,000 80,000
18 SIS0t HAS A 50,000 0 50,000
OESs § s2 010D] AHHl 82 50,000
403 AXIEHHSAH=201H 267,300 267,300
01 AR A =2 £ 267,300 267,300
O=Es#+ Zdl 267,300
O disst 49 328 &4 1,812,744 1,327,299 485,445
201 el 16,500 15,755 745
01 At2teltl 16,500 16,755 745
O38st & Rz Mesd S 12,000
OR=Zst=8s 22 % HUNE S 4,500
308 AtXIEMSOIE 400,894 369,024 31,870
01 HASHHBSEXS 400,894 369,024 31,870
OFR=A28X E3H 28 9,000
OZAls=2tel A (XHAl) 307,8%4
Ogeldt =/l K& S 50,000
OBIZHEA &d XA 34,000
403 MR EHSAHE01H 1,395,350 939,520 455,830
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SA AR
Ma: olol AMA A3
ol SXxE - AEFRY - S EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
= 90,000
S 18,000
01 HXSHH B E2ES 108,000 98,948 9,052
O=5&20Ul0IH 108,000
= 90,000
= 18,000
SEEFIISsSHNSAE 1,838,000 731,443 1,106,557
Il 1,838,000
403 AXIEHMSAH=0lH 1,838,000 731,443 1,106,557
J| 1,838,000
01 XM A =2 E 1,838,000 731,443 1,106,557
O=sM=XE2 =4 1,838,000
Il 1,838,000
MEOSSS UM 57,000 114,000 /57,000
308 AHXIHMSO0IA 57,000 114,000 /57,000
01 X SHHEAEES 57,000 114,000 /57,000
OLHEIES2Z LA 57,000
KIXERI A A & 2 & (M EHAY) 7,955,000 6,200,000 1,755,000
403 AXIEHHSAH=0l: 7,955,000 6,200,000 1,755,000
01 XISt A2 £ 7,995,000 6,200,000 1,755,000
Oz =L (E2) 7,955,000
Xgos = (HEAY) 585,000 0 585,000
403 AXIEHMSAH=0ld 585,000 585,000
01 MXIHHA =222 585,000 585,000
OxRe = 22 585,000
SOt E L2 (MEAY) 421,200 585,000 A163,800
403 NI EMS =01 421,200 585,000 163,800
01 AXISHA=2E2 X 421,200 585,000 A163,800
OROt=ME 421,200
AHRIYZEAIE RS (HEALY) 4,900,000 0 4,900,000
403 AXIEHMSAH=01 4,900,000 4,900,000
01 IR A =2 4,900,000 4,900,000
Ot EZ=AE =4 4,900,000
St & &E=25 S8 1,025,180 1,167,870 A142,690
201 L2 11,000 11,000 0
01 AFR2t2ltl 11,000 0 11,000
Osd 10004t FAOIE RAI2 11,000
308 AXIHMSOIA 13,000 13,000
01 X SHHEAEXS 13,000 13,000
OFaY SAHXD| H= 13,000
403 AXIEHHSAH=01H 1,001,180 1,143,870 A142,690
01 XIS A =2 1,001,180 1,143,870 A142,690
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2A:

Mm: olg AT 25
e N A R S (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 193,604 227,169 33,565
O=di&lt AE=2d 193,604
= 161,337
< 32,267
SOotzn=s 28 X 352,008 544,839 A192,831
= 293,340
= 58,668
308 AFRIEHMSOIE 362,008 544,839 A192,831
= 293,340
= 58,668
01 AXH B2 LS 362,008 544,839 192,831
O=0t=old A=Y 352,008
= 293,340
s 58,668
A ety Jgl= &4 480,000 240,000 240,000
[ 400,000
== 80,000
403 AXIEHMSA=Z01d 480,000 240,000 240,000
[ 400,000
= 80,000
01 XISHH A 22 E 480,000 240,000 240,000
OXY ot Tl &4 480,000
= 400,000
= 80,000
A x4 300,000 1,200,000 900,000
= 250,000
[ 50,000
403 MR HHMSAHE01H 300,000 1,200,000 900,000
[ 250,000
= 50,000
01 AXISHA=2 22X 300,000 1,200,000 A900,000
Y3 xd 300,000
[ 250,000
= 50,000
MEAA MIHR X4 300,000 0 300,000
Il 250,000
== 50,000
403 AXIEHMSAH=0ld 300,000 0 300,000
Jl 250,000
< 50,000
01 MXIHHA 22 300,000 0 300,000
Odezne Ad8a =4 300,000
Jl 250,000




A= PN Wy
B ool A Ast
e N A R S (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 50,000
CANs ZE2ee 29 63,168 61,878 1,290
= 52,640
= 10,528
308 XXM SOIA 63,168 61,878 1,290
= 52,640
=S 10,528
01 XN BSELES 63,168 61,878 1,290
OFAlz gaaelgl 63,168
= 52,640
< 10,528
SMENBIAZR0] 2SN (HEAI) 570,000 539,902 30,098
308 XM SOIE 570,000 539,902 30,098
01 HAHHBSEXS 570,000 539,902 30,098
Ozt 2elQl 150,000
OEAI=X2el& 150,000
Ost=3ACUI0IH 30,000
O=Zd S AT Al 240,000
SHEFASMST 114,750 63,750 51,000
= 76,500
= 38,250
308 AFAIEHMSOIE 114,750 63,750 51,000
= 76,500
= 38,250
01 AXH B2 LS 114,750 63,750 51,000
ONAs A= HS A 114,750
= 76,500
s 38,250
N A S S (M EALD) 2,125,000 1,125,000 1,000,000
403 MR HHMSAHE01H 2,125,000 1,125,000 1,000,000
01 MHXIHH A 222 2,125,000 1,125,000 1,000,000
Otg=sd 2d(22) 2,125,000
AR 7 HE 300,000 100,000 200,000
403 AXIEHHSAH=201d 300,000 0 300,000
01 XIS A=E £ 300,000 0 300,000
OXHR=HE x4 300,000
BAMEZZ AL 2 4,789,000 0 4,789,000
= 500,000
== 4,289,000
201 er2&| 44,000 0 44,000
01 At2teltl 22,000 0 22,000
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68,559
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W
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68,559
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